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‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective Course ) 
¬ı̨¸±˚˛Ú ( Chemistry ) 

¤fl¡±√̇  ¬ÛS ( 11th Paper )  
Organic Chemistry-II : ECH-11 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊±¬  (Time : 2 hours)  
Û”Ì«̃ ±Ú – 50 (Full Marks : 50) 

˜±ÀÚ¬ı˛ &èQ – 70% (Weightage of Marks : 70%) 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡] [’] ˆ¬…±À˘k È¬ÀÈ¬±À˜ø¬ı˛Ê√̃  øfl¡ ∑ Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 

 [’±] øÚ•ßø˘ø‡Ó¬ Œ˚Ã·øÈ¬ ◊̋√√Ú˘ ’¬ı¶ö±˚˛ Ô±Àfl¡ Ú±º Œfl¡Ú 
¬ı…±‡…± fl¡èÚº 

   
 [ ◊̋√√] ’…±À¸øÈ¬fl¡ ’…±ø¸Î¬ ŒÔÀfl¡ øfl¡¬ı˛+À¬Û øÚ•ß¬ıøÌ«Ó¬ Œ˚Ã·øÈ¬ 

õ∂dÓ¬ fl¡¬ı˛À¬ıÚ ∑ øSê˚̨± Œfl¡Ã˙˘¸˝√√ ¬ıÌ«Ú± fl¡èÚº  

   3 + 3 + 4 

[‡¡] [’¡] ’…±øÚø˘Ú ŒÔÀfl¡ 2-ø˜Ô±˝◊√√̆ fl≈¡ ◊̋√√ÀÚ±ø˘Ú fl¡œˆ¬±À¬ı õ∂dÓ¬ 

fl¡¬ı˛À¬ıÚ ∑ ø¬ıfl¡±¬ı˛fl¡¸˝√√ ø¬ıøSê˚˛±¬ı˛ Ò±¬Û&ø˘ ø˘‡≈Ú ¤¬ı— 

õ∂øÓ¬ Ò±À¬Û ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì 

ø√Úº  

 [’±] øÚ•ßø˘ø‡Ó¬ ¬ı˛+¬Û±ôL¬ı˛øÈ¬ fl¡œˆ¬±À¬ı ¸•Ûiß fl¡¬ı˛À¬ıÚ ∑ 

   5 + 5  

 [·¡] øÚÀ‰¬¬ı˛ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ ¸•Ûiß fl¡èÚ – 

 a)  

 b)  
 

5 + 5 

 [‚] [’] øÚ•ßø˘ø‡Ó¬ ¬Û˚«À¬ıé¬Ì&ø˘ ¬ı…±‡…± fl¡èÚº 

  (i) ¬Û±˝◊√√À¬ı˛±˘ ’±ø•°fl¡ øfl¡c ø¬Ûø¬ı˛øÎ¬Ú é¬±¬ı˛œ˚̨º 

  (ii) p-Œflv¡±À¬ı˛±È¬ ≈̆ ◊̋√√Ú AgNO
  

! 

3
-¤¬ı˛ ’…±˘Àfl¡±˝√√̆ œ˚̨ 

^¬ıÀÌ¬ı˛ ¸Àe ø¬ıøSê˚˛± fl¡À¬ı˛ Ú± øfl¡c Œ¬ı?±˝◊√√̆  

Œflv¡±¬ı˛±˝◊√√Î¬ ø¬ıøSê˚˛± fl¡À¬ı˛ º 
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[’±] øÚÀ‰¬¬ı˛ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ¸•Ûiß 
fl¡èÚ–  

   (i)  

  (ii) 
 

    
[2 + 2] + [3 + 3]  

ø¬ıˆ¬±· - ‡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

[fl¡] fl¡±¬ı˛Ì¸˝√√ Ó≈¬˘Ú± fl¡èÚ –  
 (i) 

  

! 

(CH
3
)
2
CHBr › 

  

! 

[ CH
3
)
3
C ]

3
CBr  Œ˚Ã·¡ZÀ˚˛¬ı̨ 

  

! 

S
N
1 ø¬ıøSê˚˛±¬ı˛ ’Ú±˚˛±¸ ¸±Ò…Ó¬±º 

 (ii) 

 

› 

 

Œ˚Ã·¡ZÀ˚˛¬ı˛ 

  

! 

CO
2

 øÚ·«̃ Ú ø¬ıøSê˚˛±¬ı˛ ’Ú±˚˛±¸ ¸±Ò…Ó¬±º 

 (iii) 
 
¤¬ı— 

  

! 

CH
3
CH = CHCH

3
 

Œ˚Ã·¡ZÀ˚˛¬ı˛ n-Œflv¡±À¬ı˛±¬Û±¬ı˛À¬ıÀ?±ø˚˛fl¡ ’…±ø¸ÀÎ¬¬ı˛ ¸±ÀÔ 

◊̋√√À¬Û±ø'ÀÎ¬˙Ú ø¬ıøSê˚˛±¬ı˛ ’Ú±˚˛±¸ ¸±Ò…Ó¬±º 2 × 3 

[‡] ø¬ıøSê˚˛± ˙ÀÓ«¬¬ı˛ ¸—øé¬5 Î¬◊À~‡¸ √̋√ øÚ•ßø˘ø‡Ó¬ ¬ı˛+¬Û±ôL¬ı˛&ø˘ 
¸•Ûiß fl¡èÚ – 

 (i)  

 (ii)  

 (iii) 

 

2 × 3 

[·] [’] 

! 

" -’…±ø˜ÀÚ±fl¡±¬ı«øÚ˘ Œ˚Ã· ŒÔÀfl¡ ¬Û±˝◊√√À¬ı˛±˘ Ê√±Ó¬fl¡   
¸—Àù≠ ∏̄ÀÌ¬ı˛ õ∂øÓ¬øÈ¬ Ò±¬Û ˚Ô±˚Ô ø¬ıfl¡±¬ı˛fl¡ › ø¬ıøSê˚˛±¬ı˛ 
˙Ó« Œ√ø‡À˚̨ ¤fl¡øÈ¬ ¬ı˛+¬ÛÀ¬ı‡̨± ∆Ó¬ø¬ı˛ fl¡èÚº  

 [’±] ’¬ı·̨…±ÀÚ±-˜…±·ÀÚø¸˚˛±˜ ø¬ıfl¡±¬ı˛fl¡¸˜”̋ √√ ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ 
fl¡œˆ¬±À¬ı Œ¬ıË±À˜±À¬ıø?ÚÀfl¡ 2-øÙ¬Ú±˝◊√√̆  ◊̋√√Ô±˝◊√√̆  
’…±˘Àfl¡±˝√√̆  Œ˚ÃÀ· ¬ı˛+¬Û±ôLø¬ı˛Ó¬ fl¡¬ı˛À¬ıÚ ∑ 4 + 2 

 [‚] øÚ•ßø˘ø‡Ó¬ ¬õ∂ÀÓ¬…fl¡ Œ˚Ã·-ŒÊ√±ÀÎ¬ˇ¬ı˛ ¸√̧ …¡Z˚˛Àfl¡ ˚Ô±˚Ô 
¬ı˛±¸±˚˛øÚfl¡ ø¬ıøSê˚˛±¬ı˛ ¸±˝√√±À˚… ø‰¬ø˝êÓ¬ fl¡èÚº 

 (i) 
  

¤¬ı— 
 

 

 (ii) 
  

¤¬ı— 
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 (iii) ¸…±ø˘ø¸ø˘fl¡ ’…±ø¸Î¬ ¤¬ı— p-˝√√± ◊̋√√Eø'À¬ıÀ?±ø˚˛fl¡ 
’…±ø¸Î¬º 2 × 3 

 [„√√] øÚ•ßø˘ø‡Ó¬ ø¬ıøSê˚˛±&ø˘ÀÓ¬ A, B, C, D, E › F 
Œ˚Ã·&ø˘Àfl¡ ˙Ú±Mê√ fl¡èÚº  

  (i)     

  (ii)   

     
  (iii)    

     

   2 × 3    

[‰¬√√] [ƒ’] ¬Û±˝◊√√À¬ı˛±˘ ¤¬ı— øÙ¬Î¬◊¬ı˛±ÀÚ¬ı˛ ˜ÀÒ… Œfl¡±ÚƒøÈ¬¬ı˛ ø¡ZÀ˜è 
w±˜fl¡ Œ¬ıø˙ ¤¬ı— Œfl¡Ú ∑ 

 [’±] øÙ¬Ú˘   ŒÔÀfl¡   øÙ¬Ú˘¬ÛƒÔ…±ø˘Ú  øfl¡ˆ¬±À¬ı    õ∂dÓ¬    
fl¡¬ı˛À¬ıÚ ∑ é¬±¬ı˛œ˚̨ ^¬ıÀÌ øÙ¬Ú˘ÛƒÔ…±ø˘Ú øfl¡ ¬ıÌ« Ò±¬ı˛Ì 
fl¡À¬ı˛ ¤¬ı— Œfl¡Ú ∑ 3 + 3 

   ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12    

 [fl¡¬] ¬ø¬ıfl¡±¬ı˛fl¡ › ø¬ıøSê˚˛±¬ı˛ ˙Ó¬±«¬ıø˘ Î¬◊À~‡ fl¡À¬ı˛ 
ŒÎ¬±À˚˛¬ıÚ±¬ı˛-ˆ¬Úƒ ø˜˘±¬ı˛ ¸—Àù≠ ∏̄Ì ¬ÛXøÓ¬ÀÓ¬                  
2-ø˜Ô±˝◊√√̆ fl≈¡ ◊̋√√ÀÚ±ø˘Ú õ∂døÓ¬¬ı˛ Ò±¬Û&ø˘¬ı˛ ¬ı˛+¬ÛÀ¬ı‡̨± 
ø√Úº 3  

 [‡¡] Œ¸±øÎ¬˚˛±˜ √̋√±˝◊√√E'±˝◊√√ÀÎ¬√¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ ø¬ıÎ¬◊È¬±ÀÚ±ÀÚ¬ı˛ 
Œ¬ıË±ø˜ÀÚ˙Ú ø¬ıøSê˚˛±˚˛ 

  

! 

CH
3
CH

2
COCBr

3
Î¬◊»¬Ûiß 

√̋√̊ ˛ øfl¡c ’…±À¸øÈ¬fl¡ ’…±ø¸Î¬ ˜±Ò…À˜ 

  

! 

CH
3
CHBrCOCH

3
 Œfl¡ õ∂Ò±Ú Î¬◊»¬Ûiß Œ˚Ã·¬ı+̨À¬Û 

¬Û±›˚˛± ˚±˚˛º ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ¬Û˚«À¬ıé¬Ì&ø˘¬ı˛ 
¬ı…±‡…± ø√Úº 3   

 [·¡] øÚ•ßø˘ø‡Ó¬ ø¬ıøSê˚˛±&ø˘ÀÓ¬ ø¬ıøSê˚˛±Ê√±Ó¬ ¬Û√±Ô«&ø˘ 
A, B, C, D, E ¤¬ı— F  ˙Ú±Mê√ fl¡èÚº  

  i)  

  ii)  

  iii)  

  iv)  

  v)  
  

! 

1

2
 × 6 
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 [‚¡] øÙ¬Î¬◊¬ı˛±ÀÚ ˝◊√√Ô±¬ı˛ ¬ıgÚ ’±ÀÂ√ øfl¡c Ó¬± ˝◊√√Ô±À¬ı˛¬ı˛ 

¶§±ˆ¬±ø¬ıfl¡ ø¬ıøSê˚˛± Œ√̊  ̨Ú±º  ¬ı…±‡…± fl¡èÚº 3   

 [„√√¡] ø¬ıfl¡±¬ı˛fl¡ › ø¬ıøSê˚˛±¬ı˛ ˙Ó¬±«¬ıø˘ Î¬◊À~‡ fl¡À¬ı˛ ¸…±fl¡±ø¬ı˛Ú 

õ∂døÓ¬¬ı˛ Ò±¬Û&ø˘ ø˘‡≈Úº 3  

 [‰¬] øÚ•ßø˘ø‡Ó¬ ø¬ıøSê˚˛±øÈ¬ÀÓ¬ ¸y±¬ı… ø¬ıøSê˚˛±Ê√±Ó¬ ¬Û√±Ô«øÈ¬ 

ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ø¬ı¬ı‘Ó¬ fl¡èÚº 3 

    

 [Â√¡] øÚ•ßø˘ø‡Ó¬ ø¬ıfl¡±¬ı˛fl¡&ø˘¬ı˛ ¤fl¡øÈ¬ fl¡À¬ı˛ ¸±—Àù≠ø¯∏fl¡ 

¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Ú – 3  

  (i) 
  

! 

Me
2
CuLi  

  (ii) ¬∏C±˝◊√√øÙ¬Ú±˝◊√√̆  Ù¬¸øÙ¬Ú 

  (iii) 
  

! 

P
4
S

10
  

 [Ê√¡] ŒÚ±Àˆ¬Ú±·±˘ ø¬ıøSê˚˛±¬ı˛ ›¬Û¬ı˛ ¸—øé¬5 È¬œfl¡± ø˘‡≈Úº 3 

( English Version ) 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions : 10 × 2 = 20 

(A) a) What is valence tautomerism ? Explain 

with example. 

 b) Explain why the following compound 

does not exist in the enol form. 

     

 c) How will you prepare the following 

compound from acetic acid ? Describe 

with mechanism. 

   3 + 3 + 4 

 (B) a) How would you prepare                          

2-methylquinoline from aniline ? Show 

the reagents and chemical equations 

with plausible mechanism in each step. 
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 b) How would you carry out the following 

transformation ?  5 + 5 

   

(C) Carry out the following transformations: 

 a)  

 b)  
 

5 + 5 

(D) a) Explain the following observations : 

  (i) Pyrrole is acidic but pyridine is 

basic. 

  (ii) p-chlorotoluene does not react 

with alcoholic AgNO
  

! 

3
 solution 

whereas benzyl chloride reacts. 

 b) Carry out the following 

transformations. Give mechanism. 

  (i)  

  (ii) 

 

    (2 + 2 ) + ( 3 + 3 )

 

Group - B 

2. Answer any three questions. 6 × 3 = 18 

(A) Compare with reasons : 

 (i) The ease of 
  

! 

S
N
1 reaction of 

  

! 

(CH
3
)
2
CHBr and 

  

! 

[ CH
3
)
3
C ]

3
CBr  

 (ii) The ease of decarboxylation reaction of 
  

 

and  

 

 (iii) The ease of epoxidation reaction of 

 
and 

  

! 

CH
3
CH = CHCH

3
  

with  n-chloroperbenzoic acid. 2 × 3  
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 (B) Carry out the following transformations 

mentioning briefly the reaction conditions : 

 (i)  

 (ii)  

 (iii)  2 × 3 

 (C) a) Outline the synthesis for pyrrole 

derivative from 

! 

" -aminocarbonyl 

compound showing proper reagents 

and reaction conditions in each step. 

 b) How would you convert bromobenzene 

to 2-phenylethyl alcohol using organo- 

magnesium reagents ? 4 + 2  

(D) Identify each member of the following pairs 
by suitable chemical reaction. 

 (i)  

 (ii)   

 (iii) Salicylic acid and p-hydroxybenzoic 
acid. 2 × 3 

(E) Identify the products A, B, C, D, E and F of 

the following reactions : 

  (i)   

  (ii)   

     

  (iii)   

     
   2 × 3 

 (F) a) Which of the following compounds has 

higher dipole moment and why ?  

  Pyrrole or Furan.  
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 b) How would you carry out the following 

transformation ? 

  Phenol 

! 

" # "   Phenolphthalein.  

  What colour will phenolphthalein take 

in basic solution and why ? 3 + 3 

Group-C 

3. Answer any four questions : 3 × 4 = 12 

 (A) Outline the steps with reagents and 

reaction conditions for the synthesis of 

2-methylquinoline by Döbner-Von 

Miller synthetic method. 3  

 (B) Butanone on bromination in presence 

of sodium hydroxide produces 

  

! 

CH
3
CH

2
COCBr

3
 whereas in the case of 

bromination in acetic acid medium the 
major product is 

  

! 

CH
3
CHBrCOCH

3
. 

Explain the observations with reaction 

mechanism. 3 

 (C) Identify A, B, C, D, E and F in the 

following reactions :  

  i)  

  ii)  

  iii)  

  iv)  

  v)  
  

! 

1

2
 × 6 

 (D) Furan contains ether linkage but it 

does not show usual reactions of ether. 

Explain.  3   

 (E) Write down the steps for the synthesis 

of saccharin mentioning the reagents 

and reaction conditions. 3  
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 (F) Predict the product with plausible 

mechanism of the following reaction. 3 

    

 (G) Give one synthetic use of each of the 

following reagents : 3 

  (i) 
  

! 

Me
2
CuLi 

  (ii) Triphenyl phosphine 

  (iii) 
  

! 

P
4
S

10
    

 (H) Write a short note on Knoevenagel 

reaction. 3  

    


